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Pensieve header: Full stitching as a determinant.

<< KnotTheory"

2015-09-14 10:01:37

<< "C:/drorbn/AcademicPensieve/Projects/MetaCalculi/MetaCalculi-Program.m"

Loading KnotTheory® version of September 6,

Read more at http://katlas.org/wiki/KnotTheory.

KO = Last@SXForm[K = Knot[8, 18]]

: Loading precomputed data in PD4Knots'.

2014,

13:37:37.2841.

Xm[3, 8] Xm[7, 12] Xm[11, 16] xm[15, 4] Xp[l, 6] Xp[5, 10] Xp[9, 14] Xp[13, 2]
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Drop[M + Normal [SparseArray[{Band[{1l, 2}] » -1}, {16, 16}]], -1, -1] /. T T
] // Simplify

. (1-3T7+12) (1-T+T?)

2

Z [K]

dm[1l, 16, 1]

dm[1, 15, 1][dm[1, 14, 1] [dm[1, 13, 1][dm[1, 12, 1][dm[1, 11, 1] [dm[1, 10, 1]
dm[1l, 9, 1] [dm[1, 8, 1] [dm[1l, 7, 1] [dm[1, 6, 1][dm[1, 5, 1]
dm[1, 4, 1][dm[1, 3, 1][dm[1, 2, 1][Xm[3, 8] Xm[7, 12] Xm[11l, 16]
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(am[1, 11, 1][dm[1, 10, 1] [dm[1, 9, 1] [dm[1, 8, 1] [dm[1, 7, 1]
dm[1, 6, 1][dm[1, 5, 1] [dm[1, 4, 1] [dm[1, 3, 1][dm[1, 2, 1][KO // T1111111111)

1-T1-T13+T1 T13+T1 Tas

S S S S S
T1s 1 12 13 14
s T1 T13 (=1+4T1) (=T13+T1 T13+T1s5) 0 _ (-1+T) Ty (1-T-Ty3+T) T33+Tis) (
1 1-T1-T13+T1 T13+T1 T15 T1 (1-T1-T13+T1 T13+T1 T1s) 1-T1-T13+T1 T13+T1 T1s
1
s1s 0 = 0 0 (
s _ (=1+4Ty3) (1-T3+Ty Tys) _ (=14T1)3 (~1+T13) (~1+T3s) 1 (=1+T1)> (~1+T13) T1s (
13 1-T1-T13+T1 T13+T1 T1s T? (1-T1-T13+T1 T13+T1 T1s) 1-T1-T13+T1 T13+T1 T1s
S14 0 0 0 T, (
s T1 T13 (=1+T1s) (=1+T1)? (1-T13+T1 T13) (~1+T1s) 0 _ (=14T1)° (=1+4T13) (~1+T1s)
15 1-T1-T13+T1 T13+T1 T1s T? (1-T1-T13+T1 T13+T1 T1s) 1-T1-T13+T1 T13+T1 T1s
Sie 0 0 0 0 (
T Ti3 1
N T1s o 1 T,

Ml =
(am[1, 11, 1][dm[1, 10, 1] [dm[1, 9, 1][dm[1, 8, 1] [dm[1, 7, 1] [dm[1, 6, 1] [dm[1, 5, 1]
dm[1, 4, 1][dm[1, 3, 1][dm[1, 2, 11[KO // T1111111111) [A]

H T1 Tas (-1+T1) (-T13+ Ty Ty3+Tis) 0
’ 14 ’
1-T;-Ti3+T1 Tiz+ Ty Tys Ty (1-T;-Ty3+ Ty Ty + Ty Tis)
(-1+T¢) Ty (1 -T1 -T13+T7 Ty3+ Tq5) -1+T, 1
- ’ OI —}I {Or T OI 0, OI O}I
1-T;-Ti3+T1 T13+T1 T1s T T
{ (1+T13) (1-T1+ Ty Tus) (=1+T1)3 (=1 +T13) (-1+Tss)

- r ’
1-Ty -Ti3+ Ty T13+ Ty T1s Tf (1 -Ty - Ty3+ Ty T13+ T Tys)

-1+Ty)3 (-1+T T
1/ ( 1> ( l3> E 4 Ol O}I {Or Ol Ol Tll Ol O}r
1-Ty-Ty3+ Ty T13+T1 T1s

4 4

{ T1 T13 (-1 +Tys) (-1+T1)2 (1 -Ty3+T1 T13) (-1+Tys)
14
1-T;-T13+ Ty T3+ Ty Tis T (1 -T; -Ti3+ Ty Ty3+ Ty T1s)
(-1+T1)3 (-1+Ty3) (-1+T15)

1
- ’ 1/ O}I {OI OI OI OI OI 7}}
1-Ty-T13+Ty T3+ Ty Tis Ty

1-T;-Ti3+T1Ti3+T1Tis

Det|[
T1s

Drop[M1 + Normal [SparseArray[{Band[{1, 2}] » -1}, {6, 6}]], -1, -1]
] /. T »T // Simplify

(1—3T+Tﬂ(1—T+Tﬂ2

T2

n n n
n==6; 70=I'[1, ha o2, Zztahba10a+b]
a=0 a=1b=1
1 S1 So S3 Syg S5 Sg
S1 011 Q12 13 Og Qs (g
S2 Op1 Q2 Q23 Opg Q25 026
S3 031 Q32 (33 O34 Q35 36
Sg Qg1 Quz (g3 Qg Qys Oyg
S5 Os1 A5z O53 Os54 Qss Usg
Se Qg1 (g2 Ae3 Ugg UHes Uep
I o, 0, 03 04 0Os5 Og
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tl = Det[

]

Drop[Normal [SparseArray[{Band[{1, 2}] » 1}, {n, n}]] -¥0[A],

-1, 1]

2015-09-14 10:01:37

— (016 = 016 Q23 + Q13 Olpg — 16 Olpg Q33 + Ol14 Olpg (33 — Ql1g O34 + Ol1g 23 Q34 — Q13 Olpg O34 + A1g Q36 =

A14 023
16 Q24
A15 A26
13 Azs
16 X34
15 Qgp

A15 023

A36 + X713 A24
O35 Qg3 + Ay
033 Agq — A1
36 Qgg — A1
Qg5 — A6 K23
— Q15 X233 Qg

O34 Ay — U713

A36 — A1 A25 Ay3
26 Q35 Ay3 + A15
O35 Agq + A1 A23
Ays + A1 A23 Ays

O34 Qg5 + A3 A6

+ A13 Aps Qg — Ays Apg 33 Ugp + A1g Aps (33 Aye — A5 34 Qg +

+ Q15 Q26 Ag3 + A6 A5 A34 A3 — A5 Ape 34 Qg3 —

Q24 O35 Qg3 — A1g4 A5 Q36 Ay3 — App Q5 K33 Ugyg +

O35 Agq — K13 Upp U35 Qgg + Q15 A3 Qggq — A5 A3 A3g Agyg +
- 13 Ogp Qs + Ay Apg Q33 Ays — Apgq Qg A33 Ays5 +

O34 Ag5 — A4 A3e Oys + Q1g Q23 Q36 Qg5 — A3 Apg A3 Ays +

Q25 O34 Qg + Q14 O35 Olgg — A1g4 Q23 O35 Olgp + X13 Qg O35 Olgp) Qlsp +

((=Qi6 025 + 015 Olpg + A1 Qo5 O34 — A5 Olpg Ol3g — Ol1g Olpg X35 + A1y Opg O35 + A15 Oy Q36 — Ol14 Olps A3g) Oy —

(016 025 (32 — Q15 Oz A3z — A1 Qo Q35 — Olgp O35 + 12 Oz O35 + 015 Ol2p A3g + Q25 O3 — A1z 25 Azg)

Ogq = (Q1g Opp + 0o — O1p Olpg + Q16 Olpg O3 — 1y Opg Ol3p — O1g Olpp Olzg =

Olop O34 + Q1 Olpg O3g4 + 014 Qzp 036 + Olog A3 — Q12 Q24 O36)

(1-04s) -

(Ol15 Otpp + Olps5 = Q1p Ops + 015 Olpg A3p — Qg Olps X3p — Q15 Qlpp Olzg — Olps O3g +

Q12 Olz5 O34 + Q14 Olpp O35 + Qg O35 — Ol12 Olog A35) Olge) Ols3 —

(016 32 — Qg Q23 032 + K13 Olpg Q32 + Q1 Opp (33 + Qg 033 — Ol1p Ol (33 + Q36 — Ol12 36 —

(=016 Qgp + Q16 O3 Olgp — (13 O Olgp + U1g

A13 App A36 — U3 A3e + Q12 Q23 A3 + A1 A5 X33 Agp — A5 Ape A33 Qg2 + A1 X35 g2 —

16 023 Q35 Ay + X713
A15 A A32 Ay3 + A6
A1z 025 A3 Ayg3 — A1
Q26 X33 Ags5 + A2 Age
A2 A23 A3 Ays5 + U715

12 A5 A33 Ay + A3s

16 A3 A34 Uy + 13
Q26 Qg3 + A1 Qo Ay3
Q12 Ao A34 Ag3 — Ayg
13 0o Q32 Ugg — A1
13 A2 A36 Agy + A23
A2 023 Qe + Q14 A32

A1 Apgq A33 Uy + A3y

A26
a22
32
a33
32

Ay

26

A3s
A3s
Ays + A6 A23
Qg5 — A36 Ays
g6 — A5 A23
— 12 U35 Age

O34 gp — 14

- 16 O2g 32 A43

a22
22
36
Ay6

Ay

A3 Ag3 — A4
33 Qgg — A2g
Agq — A2 K23
— Q14 23 A32

— 12 X34 g6

32 Qg5 — Q13 Upe A3 Qg5 — A1 Ay (33 Qys —

+ A2 A3 Ags5 + A3 A2 A3e Qgs + Q23 A3 Ag5 —

gy — A5 A3 Qg2 + A5 A3 A3 Ayp — A3 Qo5 A3 Agp — A6 Q25 A32 Ay3 +

Qg3 + Apg U35 Ay3 — Q12 Qe Q35 Qg3 — O35 22 A3g Ag3 — A5 A3e Ag3 +

32 Qg + Q13 A5 A3 Uge + Ays App A33 Aye + Aps X33 Uyp —

— 013 Ol22 Q35 Qgg — 023 O35 Olgg + A1 023 35 Olgg) Olsg +

Qg Q33 g2 — A1g e Q33 Ay + App O34 Qg2 —

A36 Qgp + A4 A3 A3e Ay — A3 Qg Q36 Qg2 — A1 A2p Ag3 —

+ A1g4 Ape Q32 Ay3 + App O A3g4 Ag3 + Apg A34 Ay3 —

A3 g3 + A Aoy A3e Ay3 — A1 A32 Qgg + A1 A23 A3p Agg —

33 Qgg + A1p App 33 Ugg — A3p Agg + A1 A3 Agg +

036 Agq — Ay + A2 Oge + A13 Q22 Qge + Q23 Ogp —

Qg6 + A3 Qg A32 Qg + A1g App K33 Qg + Qg K33 Uy —

— 013 Olz2 Q34 Qlge — Ol23 O34 Olgg + A1p 023 X34 Olgg) Olss +

((=Qis + Q15 0p3 = 013 Qg5 + Q15 Qg K33 — A14 Qps Q33 + 015 O34 — A15 A3 Olzg +

013 Olz5 Q34 — Q14 O35 + 014 Az3 Q35 — 013 O2q A35) Qg —

(Ol15 Olpp + Olp5 = Q1p Ogs + 015 Olpg A3y — Ql1g Olps O3p — Q15 Qlpp Olzg — Olps O3g + Qlpp Qo Ol3g +

Q14 Olzp O35 + Olpg O35 — O12 Qog O35) Olg3 + (— 015 A3z + A1s A3 032 — A13 Olzs A3 —

Q15 Olpp 033 = Qg5 033 + 012 Olps Q33 — O35 + A1p U35 + Q13 Qo O35 + 023 (35 — A1 Op3 A35) Qlag +

(1 -012 - 013 022 — 023 + Q1 023 — A14 A3z + A1g 023 O3z — K13 Olgg Q3p — Ol14 Olgp K33 — Qg 033 +

O1p Olpq 033 — O34 + 013 Q3 + Q13 Oap Q3g + Qg3 O3g — 012 Q3 O31) (1 -0ays)) (1 - ase)
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t2 = y0;
Do[t2 =

t2

t2 = t2@w

1-012 -
A12 A24
A5
A4
A5
A1s
a3s
az3
12
A16
13
A16
14
a3
16
A16
A5
A1s
16
A2
16
A4
A2
26
A26
A1s
A5
A2
A2
A16
A5
A16
A2

26

A1s

13

a3

13

13
33
33
A3s
34

Agq

+ A12 X35 Qgg

— 12 A3 Oys

33
As2
A34
A34
36
A3s
Ays
A34
As2
A34
As3
A34
A34
36
A3s
As3
Ays
Ag6
A34
A3s
33
33
g2
A3s
36
Qg5
Ays
33
A3s
Ag2

A34

// dm[1, k, 1],

{k, 2, n}];

2015-09-14 10:01

Qo2 — O3 + A1 Q23 — Qyg A3y + Apg O3 A3 — Q13 Apg A3p — 014 Ay X33 — Aoy (33 +

— O34 + A1 A34 + A3 Ay A34 + Q23 O34 — A1p Ap3 K34 — Aps5 Ay + Qs Q23 Qgp — 13 Ops5 Agp +

Ay — Ay4 Q25

Qg — A3 Qg

Qg3 + A5 O34

+ 15 A23 32

Qys + 34 Oys

— 013 026 U52

U523 — A14 A3

Qg3 A52 + A5

Ay3 A5 + A1

Qg4 A52 — A5

sy + X133 A6

Qg5 A52 — K13

+ A5 023 Uygp

Qg A5 +
- Q26 U53
53 — 14
Ay As53 —

Agp A53 — A1

Ayq A53 — U35

— 012 026 g5

As53 + A1 A6

53 — A25 A4

Qg6 A53 + U5

Ay A53 — A1

Q54 — A36 Usyg

Agp A54 + A5

Us4 — A5
g3 As54 —
Qg3 Os54 +
54 — U712
Us54 + U712
Qg6 A54 — U2s
Aye Os54 + 023
As55 + A6 A2g

Ay Os5 — A4

+ 13 A2 A3s

+ A14 A32 Ays

33 Qgp + A5 A34 Agp — A5 Q23 A34 Agp + A3
Q35 Agp — A5 Ao Qg3 — Qs Qg3 + A1p 025 (43
A3 — Ay Op5 Q34 A3 — A4 Qpp U35 g3 — Aoy
Agq — A3 A5 A3 gy — Qs Qo2 (33 Ogg — A25

Agyq + A3 Q35 A4y
— (14 X23 A32 Ays
- 12 O34 Qg5 — Q13 App O34

+ Q16 24 X33 A52 — A4 A2

U5y + A4 A23 A3 A52 — K13
Q26 X34 Ag3 A5 +
Q25 Q33 Qgq A5 —
36 Agq A5 + A5 A3 Q36 Qgq A2 — A3
Ays A5 — A1 Apq X33 Qg5 A5 + Ayg A2
Q26 X34 Ag5 A5 + A1g A3e Qg5 As2 — A1y

52 — A3 025 Qge A5 + A5 Qg K33 Ay

A16 O24 X35 Ag3 A5 —

- 12 (23 Q35 Uy
+ Q13 024 32 Oys
Ays — A3 O34 Ays
33 A5 + A6 A34

Q24 O35 U52 + A6

14

15 Qo X33 Qgg Us2 + A6

25

33

23

As2

13 O25 X34 Age A5 — A4 K35 Aye A5 + Q1g Q23

Q25 X3 Agq A53 + A5 Ape A3p gg As3 + Agp

Q22 O35 Agq A53 — A5 Q36 Ayg A53 + A7
53 + Apg Ay A32 Oys As3 — O1g Q26 A32
Q34 Qg5 A53 + A1g Ao QA3 Ays As53 + Aoy
As53 + A2 A5 Aye As53 — Q15 Qg 32 O46
34 Oy A53 — A2 A5 Q34 Aye 53 — A4

Q32 A54 + Ay A3 A32 As54 — Q13 Q26 A32

A2s
Ays
36
As3
22

54

Qo5 Q34 Ayp — Apg 35 Qg2 +

— 015 pg4 A3 Ay3 + A4 Aps A3p Qg3 +
O35 Qg3 + Ayp Upq X35 Qg3 —

033 Qgq + A1 A5 K33 Agyg —

—Oys + 12 g5 + A3 Qoo Ays +

+ A4 A X33 Ays + Apg A33 Qgs —

+ A12 A3 Q34 Ays — Aype A5 +

As52 — A6 A3 34 U5 +

Qo5 Qg3 A5p — A5 Qo A3 A5 —

Q26 X35 Ag3 A5 — A5 Ay A3e Ky3 A5 +
35 Qg A5 — A O3 U35 Agg A5 +
36 Agq A52 + A6 Ags5 A5 —
Qys Qs — Q16 A34 Ags5 A5 +
36 Ag5 A5 + A3 Apg A3e Qs Asp —

— Q14 A5 (33 Ayp A5 + A5 A34 Age As2 —

35 Ay A5 — A3 Ay K35 Qge As2 —

+ A1p Kpe Q53 — Ay Apg A3 As53 + A1g Ape A3 A53 + A Ao A34 K53 + Ape Q34 K53 —
Q22 36 A53 — Uy A3g A53 + A1 Qg A3 Q53 — A3 O25 Agp A53 + A5 Apg Ay A53 +

15 Qo6 A34 Ay As53 — A1 Ay Q35 Ay 53 + A4 Ape K35 Agp A53 + A5 Aoy A3 Ay As53 —

Q22 O35 Agq A53 + Ape K35 Qggq A53 —
36 Qgg A53 + A1 A2p Qg5 A53 +
53 — A6 A2 A34 Ays5 A53 —

Qys Q53 — A1p Apg A3 Qg5 A53 —

+ A14 A5 A3 Oge As3 +

35 Ay A53 — Apgq U35 Uge A53 +

— 16 A2 A33 U54 — Qe (33 Ol5g +

+ A2 36 As54 + A3 App (36 A54 + A3 A3 As54 — A 2 A3 Q36 As54 —

Q26 X33 Ay U54 — A1 A35 Qg As4 + Agp

36 Qgp U54 + A13 36 Qgp U54 + A1

O35 Ag3 A54 + A2 35 Ag3 A54 + A15

A3 Qg5 As54 — A6 Q32 Qg5 A54 + A13

33 Ag5 A54 + A36 As54 — A2 A36 Ays

36 Qg5 A54 — A5 Qg6 Q54 + Q15 A3

33 Ay A54 + A2 33 Ay A54 — U35

35 Qg A54 — A12 35 Qg A54 — A1

33 Agp A55 — U714 33 Agp A55 + A1

36 Qgp A55 + A1g 36 Qgp As55 — A13

23
A2s
22
A26
54
a3z
Ay
A2
34

A24

35 Agp A54 — A3 Upe K35 Qg Asg +

32 Qg3 A54 — A5 O A3p Ag3 Q54 —

36 Ag3 A54 + A5 A36 Ky3 A5 —

32 Qg5 A54 + A1 Q2 K33 Ags5 Q54 +

— 13 Ap2 U36 Qg5 A54 —

g6 Q54 — Q13 A5 A3 Ay A54 —

As54 + A2 U35 Ay A5y

As55 + A6 Q23 Ay As5

g2 As55 — A6 A3 A34 Oy Ass +

36 Qgp Us55 — A6 A2 Qg3 As55 —
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Q26 Ay3 U555 + A1 Apg Ky3 As55 — Ay Qog Q32 Qg3 Ass5 + K14 Ape A3p Ay3 A55 + Ape Ao K34 Qg3 Ass +

Q26 Q34 Uy3 55 — A1 Qo 34 Qg3 Us55 — A1g App A3 Ay3 As55 — Aoy A3 Ky3 As5 + Agp Apg A3 Qg3 A55 —
16 A32 Agq A5 + Ay A3 A32 Ayg Ass — Q13 Qo A3p Agq As55 — A6 App A33 Ayy As5 — Qg A33 Algg A5 +
Q12 Qo X33 Agg Q55 — A3 Ugyg As5 + A1 A3 Agg As5 + A3 Ay A3 Agg A55 + A3 A36 Agg As5 —

12 23 36 Agq A55 — Aye As5 + A1 Qge Ass + A3 App Age A55 + A3 Ayge As5 — A1p A3 Qge Ass +

14 Q32 Oyp A55 — A4 Q23 K32 Ay As5 + A3 Ay A3 Age Ass5 + A4 Ao K33 Qg As5 + Apg K33 Qg A55 —
12 24 X33 Ay A55 + A34 Qe As5 — Q12 Q34 Qg Ass5 — A3 App K34 Ay K55 — A3 A34 Aye Ass +

Q12 Q23 O34 Ay As5 — Q56 + A2 A56 + A3 Q2p Us56 + A3 A56 — A1 Q23 U56 + Apg A3 A5 — A1g A3 A32 A5 +
13 24 32 U5 + Apg Ao K33 U56 + Qg 33 Q56 — A12 A2g4 K33 A56 + A34 A5 — A12 A34 Ase —

13 Q2p U34 A56 — A23 Q34 U56 + A2 Q23 A34 A56 + A5 QAgp A5 — A5 23 Ao A56 + A3 Q25 Ay As56 —

15 24 X33 Agp A56 + Ayg Qs A33 Ay Qs — U35 X34 Agp A5 + A5 A3 K34 Ay Ase — A13 Qo5 Q34 Agp Asg +
Q14 Q35 Ay A56 — A4 Q23 U35 Ayp U5 + A3 Apg Q35 Ay Ase + Q15 Ao A3 A5 + Qo5 Ay3 s —

12 25 Ag3 A56 + A5 Uy A3p A3 Qs — Q1g Qo5 A3p Ag3 A5 — A5 App K34 Ay3 A5 — Qo5 A34 Qg3 Ase +
12 Q25 U34 Ay3 Q56 + Q14 A A35 Ay3 A56 + Ay A35 Ay3 A5 — A1 Apg K35 Qg3 A5 + A5 A3 Agg A56 —
15 A23 A3 Agq A56 + K13 Qs A3p Qgg Ase + Q15 A2p K33 Agg A5 + A5 A33 Ayy A5 — Q12 Qs X33 Qgg As6 +
Q35 Qgg U5 — A2 U35 Qgg U56 — A3 Q2p U35 Agg A5 — A23 K35 Agg A5 + A2 A3 Q35 Agg As6 +

g5 A56 — A1 Ays A5 — A3 Ao Qs Qs — A23 Ags5 A5 + A1 A3 Ays A56 — A1g A3p Qs Ase +

Q14 Q23 U32 Qg5 As56 — Q13 g A3p Ays A5 — A4 Qoo K33 Qg5 A5 — Upg K33 Qg5 A56 + A Qg K33 Ags5 Qs —

O34 g5 A56 + A1 A34 Ays A5 + Q13 Aop O34 Qg5 A5 + A3 K34 Ags5 A56 — A1 A3 A34 Qys Ase

tl-t2 // Expand
0
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